MoarotoBnna Mapkosa T.
yunTesib MHPOPMaTUKMU
MBOY COLU Ne40 r. Kupo




/1IByMepHbIU MACCMB -

- 3TO MaCCuB, MOJI0KEHNE 3JIEMEHTOB B
KOTOPOM OINMMCbIBAa€TCA ABYMA MHAOEKCaAMMU.

X NnpeAcTaBAAT B BUAE NPAMOYIr0/IbHOM
TabMLblI.



Hanpumep:
AaH MaccuB A(2,3)

* ( 1 3 4 )

-7 8 =7
JJIeMeHTbl MacCcuKBa:
A[1,1]=1 Al[2,1]=-7
A[1,2]=3 A[2,2]=8
A[1,3]=4 A[2,3]=-7




[laH maccus B(3, 3)

3 -1 1 0
(2 =5 )
SEES

B[1,1]= B[1,2]=
B[2,3]= B[2,2]=
B[3,3]= B[3,2]=
B[1,3]= B[3,1]=
B[2,1]=




OnucaHue Mmaccusa:

const n=2; m=3;
type dv_mas=array[1..n,1..m] of integer;
var a: dv_mas;



[lpouenypbl BBOJA MacCHBa.
BBoa MaccuBa C KJ1aBHUaTypbl

Procedure Init1 (var a:dv_mas);
var i,j:integer;

begin

fori:=1ton do

for j:=1 tom do

begin

write (‘a[*,i,’,’,j,’]1=*);

readln (a[i,j]);

end;

end;



[eHepaTop C/y4YarHbIX YUCEN

Ecnu a[i,j]€[x,y], 1O a[i,j]:=x+random(y-x+1)
Hanpumep:

Ecnm a[i,j]€[-10,10], 10 Q[i,j]:=-10+random(21)
Ecnm a[i,j]€[-50,50], 1o a[i,j]:=-50+random(101)
Ecnm ali,j]€[-2,10], 1o a[i,j]:=2??

Ecam a[i,j]€[5,100], 1o a[i,j]:=???

Ecau a[i,j]€[0,60], To a[i,j]:=2??




BBog, MaccuBa C UCnosib30BaHMEM
reHepaTopa CJ/lyMarHbIX YHUCe

Procedure Init2 (var a:dv_mas);

var i,j:integer;

begin

randomize;

for i:=1 ton do

for j:=1 to m do

a[i,j]:=-50+random(1 01 ); (MeHAmb 8 3a8UCUMOCMU OM NPOMEXXYmKa)
end;



[lpoueanypa BbiBO4a MacCMBa

Procedure Print (a:dv_mas);
var i,j:integer;

begin

for i:=1 ton do

begin

for j:=1 to m do write (al[i,j]:5);
writeln;

end;

end;



3aaaHue:

BBecTu 1 BbIBECTU Ha 3KpaH ABa ABYMEPHbIX
Maccma. MaccuB A(4,5) BBeCTU C
KnaBmaTypbl, a Maccus B(4,5) ¢
MCNO/Ib30BaHWEM FreHepaTopa CJ1y4anHbIX
yucesn. JnemeHTbl Mmaccuea B(4,5)

npuHaanexxart npomMexyTtky [-30,30]



